Divide 2 Digits by 1 Digit 1

Divide 2 Digits by 1 Digit 1

1a. Three children have answered 48 =+ 4.

1b. Three children have answered 84 + 4.
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Who is correct? Explain how you know.

%

Who is comrect? Explain how you know.
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2a. Which calculation is the odd one out?
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2b. Which calculation is the odd one oul?
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3a. Match the following statements with
the comect card.
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My calculation is solved
cormectly.

My calculation iz solved }
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3b. Match the following statements with
the comect card.

My calculation is solved ]
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Divide 2 Digits by 1 Digit 1

Divide 2 Digits by 1 Digit 1

4a. Three children have answered 70 + 5.

4b. Three children have answered 78 + 4.
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Who is correct? Explain how you know.
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Who is comrect? Explain how you know.

S5a. Which calculation is the odd one oul?
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5b. Which calculation is the odd one oul?
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4a. Match the foellowing statements with
the comect card.
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H My calculafion needs no
T exchange.
Harry - 4
Y .} My calculation is solved
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&b. Match the fellowing statements with
the comect card.
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C My calculation needs no
iy exchange.
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ﬁ, My calculation is solved
il incomecty.
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axchange.
J
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| 84:7=12 | 88:4=22 | 92:4=24 |
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Divide 2 Digits by 1 Digit 1

Divide 2 Digits by 1 Digit 1

7a. Three children have completed a
calculation where both missing digits are
the same. They have recorded the digit
that they think is missing.

7b. Three children have completed a
calculation where both missing digits are
the same. They have recorded the digit
that they think is missing.
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Who is correct? Explain how you know.

Who is comrect? Explain how you know.

8a. Create three calculations where a 2-
digit number is divided by a 1-digit
number to make the following statements
true.

+ The answer to calculation B is double
the answer to calculation A.

+ The answer to calculation C is less than

8b. Create three calculations where a 2-
digit number is divided by a 1-digit
number to make the following statements
true.

+ The answer to calculation B is three
fimes the answer to calculation A.

+ The answer to calculation C is less than

calculation B but greater than
calculation A.
. 2

Je )

calculation B but greater than
calculation A.
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7a. Complete the calculations and match
the following statements.
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My answer is an aven
number.

My answer iz less than
12.
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My calculation creates a
number with the digit
sum of 4.
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?b. Complete the calculations and match
the following statements.
My answer creates a
number with the digit
sum of 3.

My answer is greater
than 12.

My answer has the same
tens and ones digit.
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